[ ERI

SOt Covers
Installation Manual FOR RAIL LIP 33, 38 mi

Aemfex Inlematonal Co., Lid.
S4T/156 Moo 12 BangnaTrad R Bangna Prakerong Bangeok 10260 Thaland.
Tol. (HGER) T4~ 3000 wrwoenoidas. oom

\ 2. Drill bit $5.5 mm.

4. Plat screw driver

6. Measuring tape

COMPONENT PRAT
ITEM PART LIST PART NAME GAR MODEL
oic SRIC
1 <> Aaroklas Softcover 1 1
2 ﬁ Bar Stay B 4
3 %) Screw MAx0. 775 mm. 10 14
4 d 9 Mut M4 0 it
5 ?) Pan Head Screw 27 3
6 :| Liner Tapa 2 4
7 & Pan head screw M 4 x 0.7x8 mm. 2 4
8 @ Screw M4 4 a8
9 Spring Screw M 4 4 8
10 —_— Alumninium {adjustable) 1 2
SNAP CLIP BED LINER TYPE GAR MODEL
oic SRIC
% A [ YELLOW ) Use for tail gate 17 mm. 3 3
111
‘ B { BLACK ) Use for ral lip 33 mm. 24 25
" 1.2 Q B (BLACK) Use for rail lip 33 mm. 27 E
11.3 “Q C (BLUE) Use for rail ip 38 mm. a7 31
B A (YELLOW) Use for Tail gate 4 4
1.4 ‘ B (BLACK) Usa forrail lip 33 mm. 23 g
= For MITSUBEHI TRITON
RUBBER SEAL CAR BRANDS CAR MCOEL
oic SPIC
N N ALL CAR BRAND 1 1
ubbar seal typa
12 121 ’——l {Langht 1540 mm. ) (EXCEPT NISSAN NAVARA)
12.2 P Rubber seal type B ONLY NISSAN NAVARA
{Lenght 1580 mm. ) 1 1
SUPPORT BAR CAR BRANDS CAR MODEL
oI P
13.1 Z ALL CAR BRAND 2 4
. Straight Type (EXCEPT ISUZU D-MAX)
13
13.2 ONLY ISUZU D-MAX 5 4
Bend Type
ALUMINIUM PROFILE CAR BRANDS CARMODER
(= SPIC
R L R L
@ ALL CAR BRAND
14.1 AL (EXCEPT NISSAN NAVARA) R L
14 Type(A)
(g] RIL ONLY NISSAN NAVARA EE BT R
14.2 .
ype (B)
I00lS
1. Drill 3. Phillips screw driver 5. Hexagonal L- wrench #3#4 7. Marker

@

Remowe bed liner and talgate lner from fhe fruck bed.

Mark al center of mbber seal —__)

S

Bed ner
Rubber seal

releass linar tape
[Rubber seal

N

Arrange center of Rubber seal
wilh font edge of bed liner.

Pul he rubber seal 1o
line of outer mil.

J

3 I
s ™
Ral scew driver
Scemw M4
%ﬁ Aurminium peofile type 8
: |
Fubber seal ype B
J

Fial scmw driver
\ Sorew M4
Wl Auminium grolie e A

Rubber sed type A

™~ I Bed liner

Aluminium profile

1 1T

| at CenIE(M mbber seal
Rubber seal e
\

~
Dvill & holes fwough rubber seal and bed
lner by chrill bit & 5.5 mam.

J

FOR D/C model

~

() Measure fom inner panel of bed
Tner 1o @il end of bed finer.

FOR SPIC model

)

@ Mark position from rail ip
Hownward 0.5 cm.

@ Mark posifion an bedliner

/

GP-023/09 REV.00



Y e E/NL“
Dirill bit @ 5.5 mm,_ Spring washer m%%
-
-
-
" Screw M4

Rail lip of bed liner

Q Snap clip

Attach the liner tape on fruck box &3
bar stay's posifion, refer position m@

~

Abuminium (adjustable)

pan haad screw.

If snap clip misalignment with Strapper button,
Plase re-gignment by lfing up the bed liner and
adjust the snap clip after that fix the snap clip by

] >

=
e

-Philip screw driver

HSUGGESTION

- In case of soft cover is too tight,

Please bend the support bar gaing down.
- In case of soft cover is too loose,

Flaase bend the suppaort bar gaing up.

J
GP-023/09 REV.00



